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What is the value of the
question mark ?

puzzle 2

Which number is needed
to complete the puzzle ?

puzzle 3

Which option completes this pattern ?

puzzle 1

Which 2 numbers replace the question marks ?

puzzle 4

A

B

C?

5 2 20

3 5 30

30 20

4 5 40

6 5 60

48 50

2 8 ?
7 4 ?
28 64
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Math in English

Answer to brain teasers

Brain  Teasers level 4  #23

puzzle 1 :    C
The circles in each row rotate each step by 90 degrees.

puzzle 2 :    6
The rule is: 2 times 6 equals 9 +3.

puzzle 3 :   3
Subtract 25 from the 3 digit column number to get the next column.

puzzle 4 :   32 and 56
In each square multiply the center digits and then multiply the
product by 2.
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